Name: ____________________________________________________ Class: _________________________
Homework 6: 10/23/17 to 10/27/17
[image: http://www.math.com/tables/geometry/rprism.gif]Monday, October 23rd, 2017
[bookmark: _Hlk495225602]Determine the surface area of each rectangular prism.
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Tuesday, October 24th, 2017
[image: ]Crystal’s teacher gives her the following steps to convert a temperature from Celsius (C) to Fahrenheit (F):

1.    Multiply the degrees in Celsius by 9.
2.    Divide the product by 5.
3.    Add 32.

Which formula matches these steps?






Wednesday, October 25th, 2017
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Thursday, October 26th, 2017
[bookmark: _GoBack][image: ]
image4.tmp
To enter a bowling tournament, David must score an average of at least 180 points on
his 4 qualifying games. So far, David scored 164, 190, and 174. Which ineguality
describes s, 2 score on the next game that allows David to enter the tournament?

A. 5 <4(180)- (164 +190 +174) B. 52 4(180)- (164 +190+174)

(164+190+174) b. & 180 (1644190 +174)

€. 52180~ 5 5
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Match each inequality with the number line that shows its solution. Each number line
may be used once, more than once, or not at al.

A 4x>-8 1
B. 2x+7>2x-10 u
€ -6>x-4 m
D. ~12<-3(x+2) v
E. 6(x-5)-4x>2(x-10) v

F. —31(<—3 vI
¥ 72
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Solve the equation: 10x + 4 = 5(x + 2) 32 x)
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A F=3C+32
B.C=2F+32
c F=2C+32

D.C=2F+32




